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Subtraction (Horizontal) Name:
Solve each problem. Answers
1.
1) 7,901 - 7,036 =
2
2) 3,237 - 45 = 3
4,
3 6,099 - 4,283 =
5.
4 4,863 - 880 = o
7.
5 5,991 - 4 = g
0.
6) 11 - 8 =
10.
) 90 - 12 = 11,
12.
8 216 - 114 =
9 3,913 - 413 =
100 869 - 8 =
11) 728 - 64 =
12) 5,400 - 3 =
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Subtraction (Horizontal) Name: Answer Key
Solve each problem. Answers
1 865
1) 7,901 - 7,036 = 865
> 3,192
2) 3,237 - 45 = 3,192 3 1,816
4 3,983
3 6,099 - 4,283 = 1,816
- 5, 5,987
4 4,863 - 880 = 3,983 6. 3
7 78
5 5,991 - 4 = 5,987 8 102
0 3,500
6) 11 - 8 = 3
10. 861
7 90 - 12 = 78 11, 664
1 5,397
8 216 - 114 = 102
9 3,913 - 413 = 3,500
10) 869 - 8 = 861
11) 728 - 64 = 664
12) 5,400 - 3 = 5,397
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Subtraction (Horizontal)

Name:

Solve each problem.

Answers

3,500 1,816 3
102 3,983 865

5,987
3,192

78
861 1

1) 7,901

2) 3,237 - 45 =

7,036 =

3 6,099 - 4,283 =
4 4,863 - 880 =
5 5,991 - 4 =

6) 11 - 8 =

7 90 - 12 =

8 216 - 114 =

9 3,913 - 413 =

10) 869 - 8 =

10.
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